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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Illustrate your answers with suitable sketches and diagrams, wherever considered necessary.
Coloured pencils may be used for the purpose.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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@UE A
SECTION A

Q1. Frafafaa woat 3 I TN 150 yegt e § S

Answer the following questions in about 150 words each :

2 B
(i1)
(iii)
(1)
(i1)
(i)

(b) @
(1)
(1)
(ii)

3 SR F e F Frem % fow e @ o= A S E 2w 5
-1 i W 7 e fra-fr wehr @ 3wt frg Bt € 2
Afeaafia (FFHTEahes) 1 Sot % AWe § Tl & 3 — 7 el |
Wit $ oy B A+ F o fir T A sfwfamEsdd st
(=) & w1 & fafaw | _

3 s % I9am A fafie w6 Tewhl 1 i T % - dohd € 2
What are the investigations done to diagnose a case of Dengue
fever ? How are they useful on different days of illness ?

Write about the haematological tests done to monitor a case of
uncomplicated Dengue fever between 3 — 7 days of illness.

What are the indications of different blood components in the

treatment of Dengue fever ? - 4+2+4=10
T fagfs % weu § sregr@HETEl (USG) i ikt & o’ # &9 H
feremrm i |

firan fashr & AT-BHTRIATRe Yaed & o) § qad H foa=mn Hif |
Discuss in brief about the role of USG in the management of Liver
abscess.

Discuss in brief about the non-pharmacological management of

Anxiety disorder. 5+5=10

© T ety e Rl fma 3 R @ s @ o frae vawm @ (Jih) §,
I T T AR T R | St W 3Eh! o8 sar-difsd 2, yawd HEY B
AT YYEEd % Gud e aRed s g ad R | ol S HE WS
eafrl (Fheffes arde) T wedl 2 |

(i)
(ii)

(iii)

SDFB-MDCS
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frgial i ww@r wga IR |
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(d)

A 4-year-old girl is brought to you with fever and noisy respiration for
last two days. Examination reveals a febrile, dyspnoeic child with a
low-pitched sound heard during inspiration. Chest examination reveals
conducted sounds.

(i) What is the most likely diagnosis and differential diagnoses ?

(i) Name the micro-organisms that can be considered in the etiology of
this condition.

(iii) Outline three major principles of management of this child, after
hospitalization. 2+2+6=10

@2@%3@%3&%7%%%@%3@@&%%@3@@%
ST WIS T8V T % 37 R | 39 1o 1 IRl 9 SR d

[35hT AITifteh WR 4-2 kg R (Safeh 3fard 12-2 ke B);
TS 66 cm 2 (TS Y ST § 3fem Wi W 75 kg &1 3Ufara B);
HeA-Fed W1g TR 100 ecm R 1]

™ R W, 3 AIES b e wigd (o) § i aReni w9 w swdh

TR T HieTE & & gohe § o @ R |

(i) =8 9% h IR yg@ FEenst (Fert) 6 veem fife | yow fem
& 9& H Fa-HN e g &, 7@ Wy |

(i) TERIS & STl H Wefl A & 9vEq YUW 3 U # 39w B T§e
8 T s =, swht s weqa it |

A 2-year-old boy is brought with complaints of loose stools for 7 days,
lethargy and inability to feed. Anthropometry of the child is as follows :

[Weight 4-2 kg (expected 12-2 kg);
Length 66 cm (expected weight for length 7-5 kg);
Mid-upper arm circumference 10-0 cm.]

On examination, the child is having severe pallor and peripheral pulses
were poorly palpable.

(i) Identify four major problems (diagnoses) in this child and provide
points in favour for each diagnosis.

(ii) Outline the management of this child in first two hours after
immediate hospitalization. 4+6=10
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Q2.

(e)

(a)

e ofeE g 1 HIV 3, S sfrda gémar @ difsa 2, 38 ofteeiena
¥ foru PTETEETA T ST ST 2 | 391 Y& B % 3 wes 91 3 fe aeh 3@
W@améﬁ%mﬁﬁg,ﬁﬁmﬁﬁmaﬂt
et W S e § Jewhe/sE WY A | e W 9, IEh
T T FE AT SR 9 T 3 98 dredd fered o | Feewdht fw
forires (TecHs) 2 |

() saeRt @ fiem @ 2 figag @ @ see sifee v |
(i) =9 0 F fA FH-HE ¥ F Guled 9 § FRGAHH 8 ?
(iii) T 1 T 1 AT B o AT FIT HET B ?

An Asian HIV patient suffering from haematologic malignancy was put
on carbamazepine for epilepsy/convulsions. After 3 weeks of therapy, he
developed influenza like symptoms lasting 3 days followed by
development of large number of bullae on skin and mucous membranes
of mouth, eyes and genitalia. On examination, skin involvement was
extensive and very painful. Nikolsky sign was positive.

(i) What is your diagnosis ? Justify in points.
(ii) What are the possible risk factors in this patient ?

(iii) How will you assess the severity of the disease ? 4+3+3=10

(i) F&AT &% JEEH H SfHeaTe (GeneXpert) %l I % SR A w89 |
foremm ShifsT |

(i) PRpEIE FET h ITER & ST (GeneXpert) <hl 1 €H1 & ?

(iii) T 50-aT TYNE TR HI TATR-IAHAST ged UMk TR &g
1T TS G ?

(i) Discuss in brief about the utility of GeneXpert in the management
of Tuberculosis.

(ii) What is the limitation of GeneXpert in the treatment of Pulmonary
TB ?

(iii) What advice would you give to a 50-year-old diabetic male for

prevention of Ischaemic heart disease ? 8+2+10=20
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(b)

(c)

Q3. (a)

T 3-adia s 1 o 20 o & waen wet on @ R, fradh ypema A

Hohieh HTHR % &7 % ¥4 § g8 off | St 0 W arers w0 a3 R,

fasfusr 2, srcauifya 2, oft 38 snifses Rfefierr it & | 38 ufore o &

srcafye feaea @ | daE St awa; g darett § o |

(i)  3mush gt g @ 8 2 o sitfue fag i |

(i) 3@ gwifad rq-fakfasm & ==t Hifse @ adam e H saf
% |

(i) 39 ST % TEG YaTH & fagidl S dET T TRET Tegd iy |

A 3-year-old child presents with history of loose stools for last 20 days,
that started as an acute infective diarrheal episode. On examination, the
child appeared sick looking, irritable, undernourished, and having some
dehydration. There was marked perianal excoriation. Systemic
examination is essentially within normal limits.

(i) What is your complete diagnosis ? Justify the same.

(i) Discuss the probable etiopathogenesis leading to the present
diagnosis.

(iii) Outline the principles of stepwise management of this child, in

brief. 3+4+8=15

(i) EEEAE AE (WA.E.) & A & Ve # figag 9o
IS |

(i) TE.S.wH. vd faurq smereaEn qftre (s wftede Iwmieney)
Ueg AR ?

(i)  Describe pointwise management of a case of Stevens-Johnson
Syndrome (SJS).

(i) What is the mortality rate in SJS and Toxic Epidermal Necrolysis.

10+5=15

() WUTETA.E. & B4 Thq Rl fosfaa g9 %1 sfeam fraan g
2?

(i) o%d fEfeE & & @ arclt 9’ Y@ dig Sfeaarsn 1 faaemn Hifse |

(i) Th 30-affa gey, o vagle swum @9 @ g @ SEed ?,
ATATAHIA HAT H T ST 8 | SHehI |iF i v fo7 @ =¢ @ & 3
I8 UH I199 Ik A o Tehd i ot Toufa | 9 R | 55 Ut & weym
FYET T hIfoTT | '
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(i) What is the risk of development of Cirrhosis of liver in the course of
NAFLD ?

(ii) Discuss four common acute complications of Cirrhosis of liver.

(iii) A 30-year-old male, known case of Bronchial Asthma, presented to
the emergency with the complaints of breathlessness for the past
one day and is not in a position to even speak out a sentence.
Outline the management of this patient. 2+48+10=20

(b) U 2-a9fg e, @ tcafies U9 Y geel ot 37 =eaisti & awg TR &
faepa et g & SO srEyaTa ® Wl foR e | forra 6 WAl # 3@eh WY
4 9T U "o g | I W WEal (AEAIEE) 2, gERe (Faf) 2
3N TATHSA ATATSH & | I/ M H aeisH |@qiad 75% ft | S Hi
FAd RITART HH & I, g HE W Sy WA R S, Thd 8 | aH
Ftd qUIUE H W AT 3 sk Yhed TR g 2 W R |
(i) 39 ST o1 guifaa fem = 8 2 sifee o fag il |
(i) gt U9 W yR & foopa A9 vt &t g ge afed g1 @

T & Jaud fagral st weEn y&ga Sifs |
(i) 39 FEEYT &% IUTR & IUTd YITHE Ve fIehedt &1 gui hifv |
A 2-year-old boy was hospitalized with episodes of excessive crying and
extreme bluishness of the body during these episodes. There is a history
of 4 such episodes in the last 6 months. Examination reveals cyanosis,

clubbing and conjunctival suffusion. Oxygen saturation was 75% in all
four limbs. After stabilization, examination revealed normal S; and

single Sy. There was a grade 3 ejection systolic murmur at left upper
parasternal border.

(i) What is the likely diagnosis ? Justify.

(ii) Outline the principles of management of acute episode of extreme
bluishness, precipitated by excessive crying, in this child.

(ili) Describe the palliative surgical options available to treat this
condition. 6+8+6=20

() 39 W B FeN TH & forg #edt (&) 1 T4 Hed o 9w T A 6
Rrteress qC dig argenisia gfafsean Seas &1 St 2 |

() e fem w2 2 39 tawen Y gfE 3q fhw oM T “mies Wed”
& 19U HIfST |

(i) Hed (1) ¥ I are 98 wft e s § AR 38 s 3w
& "l B 2

(iii) wm%w_%mmwm@m?
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Q4. (a)

(b)

(c)

A patient develops an acute vesicular reaction on scalp after using
‘Henna’ as black dye for colouring his hair.

(1) What is your diagnosis ? Describe the gold standard test done to
confirm this condition.

(ii) What all chemicals in Henna can cause this condition ?
(iii) How will you treat it ? 4+2+4=10

(i) #ygHE # BN archt gem-aifzsh Sfewarsd 6 Aswom, StT 997 ITER *
R # wigreq avfT Hifs |

(ii) foggd sném fafee (34.8.) % @al  ar § g8 § fadem Hifvm |

(i)  Describe in brief about prevention, investigation and treatment of
microvascular complications of Diabetes mellitus.

(i1) Discuss in brief about the indications of Electro Convulsive
Therapy (ECT). 12+8=20

T e (FH 9 1300 T19) 4 32-9%E W @G G999 & o fomm |

Y H 18 52 Y W AT I FHIAYH herl e A W A1 | I A F 5O

T TYETq & T bl vary farwdr s @, ueh s § g off qun

34 7 & @ oft |

(i) 39 Fa9rd 1 quifad g w0 2 23 faud frem o same

(i) Frem 1 gfe 3g serifees aw-o1q % foe :nwn #an 3en 2N,
TG JEga Hif |

(i) 9 ST o Yeed & fagial o1 avi Hife |

A 32-week-old boy (birth weight 1300 grams) was delivered by caesarean

section. There was a history of premature rupture of membranes

18 hours before delivery. The newborn developed tachypnea, soon after

birth with chest retraction and grunting.

(1) What is the likely diagnosis in this newborn ? Also give
2 differential diagnoses.

(ii) Outline the steps of diagnostic work-up required to establish the
diagnosis.

(iii) Describe the principles of management of this child. 5+5+5=15

(i) wifenfam % fafay yg@ dresor w9 @6t fimmee |

(i) @t |ftemy 3 g B gwifad w60 a1 e Te Y B § 2
(iii) HfeEE & FH-H = feh ge-evEn (Rrpfa) aidt & 2

(iv) @ & 918 ST arelt Tt Hasfasial 1 v ST |

(i) Enumerate various major clinical forms of Psoriasis.

(i) What are the clinical patterns of joint involvement in Psoriatic
Arthritis ?

(iii) What are the systemic co-morbidities with Psoriasis ?

(iv) Describe classic histopathology findings in Psoriasis. 3+3+3+6=15

SDF-B-MDCS 7



@is B
SECTION B

Q5. (a) TUH 60-avfa gou, fmme ot W & i W o 1 9@ | [@-38W@ I 3,
St & oan 2 | @ fara 10 9wt @ rfEfa wydg w1 Wl @
G) 39 Ut <6 St HA St 2
(i) 39 JTGEAT & Y&Ee 1 G&9 § guiH i |
(iii) g o1 e R 9o % o9 S8 9e R o g B 2
A 60-year-old male presented to OPD with pus discharging ulcer over

his right great toe for the last 1 month. He is suffering from uncontrolled
diabetes for 10 years.

(i) How will you investigate this patient ?
(i) Briefly describe the management of this condition.
(iii) How will you differentiate between arterial ulcer and venous

ulcer ?
3+4+3=10
(b) TH 129977 wed # N T (F.g.9.) Uy F HRON, WA a0
YeeA 1 gUF HIfAT |
Describe causes, clinical features and management of pelvi-ureteric
junction (PUJ) obstruction in a 12-year-old male child. 3+3+4=10

© () Taes segfa o arg sifaw Fnan € 2

(i) @1 e w migd w0 ¥ fraw T o dNite T9e v swase
qeg o A H FHt AT & ?

Gii) mer Shd e i e wmvier e § 37 g W & o I g
1 T8 hl ATl ?

(iv) ia8e gfte w2 ?

(i) What are the maternal risks in breech presentation ?

(ii) Does external cephalic version reduce the incidence of breech and

caesarean delivery and perinatal mortality ?

(iii) Why is external cephalic version recommended at 37 weeks of
gestation and not before ?

(iv) What is Loveset’s Manoeuvre ? 24242+4=10

@ () wrviaeee rfhee w8 ?
(i) STEATTYa SrepieTes 1 8 2
(iii) TG § srfarhemrie sifiei i wn i @ 2
(i) What is gestational hypertension ?
(ii) What is superimposed pre-eclampsia ? :
(iii) What is the role of antihypertensives in pre-eclampsia ? 3+3+4=10

SDFB-MDCS g



(e)

(a)

(b)

T8 MUK Faud qEvel (Tl H.) st oy 8, e a=

FaSId Ifadr H gUR a1 8 | 39 WHIfG & ded #, fafafea g &

W'Eﬂﬁiﬂ; :

(i) TEELTAH. H TgH FH | I (ASHA) it &7 gt = 8 2

(i) T8 @4 % WHA H FT (ASHA) ®i Fa9md Hl o@d I+ H fafafdse
TUY-HRO 7 R 2

Home Based Newborn Care (HBNC) is a strategy which aims at

improving newborn survival. In the context of this strategy, answer the
following questions :

(1) What are the major responsibilities of ASHA in delivery of HBNC ?

(ii) What is the specified schedule under which ASHA is expected to
visit the newborn in a case of home delivery ? 7+3=10

(i) @ i IERGfrs sRhar #=@ 8 2

(ii) ammﬁnﬁa?ﬁw%waﬁﬁarﬁiﬂ?ﬁﬁﬁgiﬁrawwq@,?ﬁ%?ﬁmﬁ

 HHST |

(iii) THRTA § TIB-HTdSI FATHAT 1 Aereh GO0 Hi9-91 8 3 741 ?

(iv) T # e foped fafs oitg i srevgshar yedt 8 i SEeh feraw
Hg-48 H HH gar } 2

(i)  What is physiological anaemia of pregnancy ?

(ii) Do all pregnant women need additional iron ? Explain in brief.

(iii) What is the diagnostic test of iron-deficiency anaemia in pregnancy
and why ?

(iv) How much total additional iron is required during pregnancy and
what is its distribution in the mother’s body ? - 4+4+6+6=20

ws 23-avfa wfgen foma 3 awf & o ufy it famfa 3fg = fomm & for
A d g B | 97 qU-TERA AW FA-Ig F F&0 7 F1 ot 3fea
2

() 39 Wt H Ju-gsare HA h A =T0fEC 2

(i) ed T H Uig I+ a1t A a6 e |

(iii) 38 IR & fafercdia yeum =1 d&v § g fifs |

A 23-year-old lady presented to OPD with diffusely enlarged thyroid for

last 3 years. She also has a history of heat intolerance and increased
appetite.

(i) How will you work up this patient ?
(ii) Enumerate the eye signs in Graves’ disease.
(iii) Briefly describe the medical management of this condition. 5+5+5=15

SDF-B-MDPCS 9



Q7.

(c)

(a)

(b)

() “STqd STafafhear” 9g | ST 1 GEEd § 2 38k Mt s Y qfd
& foru Fn-ern faftm Uy Srgmme o Heha 2

(i) “steq 99 WR” (v gsey, ) it gRenfya i | amgerfies @) w o
FI-HH § S TR I AT 1 Hohd & o8 e s geey, forgpatt
1 I3 U Ghal & ?

(i) What do you understand by the term “Antenatal Pediatrics” ? What

are the various measures that can be undertaken to accomplish its
primary objectives ?

(i) Define “Low Birth Weight” (LBW). Enumerate the public health
measures that can help to reduce the burden of LBW babies in the

community. 7+8=15

T 18-a99 I JEE IUN ASUA ThHEEU o SRV hysled! § AT 8 | i
T T 3IH TGt a1 wiEl-gig & e fired § |

(i) 39 WA % YU 1 HEW § F0 I |
(i) ufasrit Afacwera & wIon i fiFE |
(iii) “3N.9.vm.3718.” (OPSI) F41 2 991 39eh1 FHamu & foran <1 gevar @ 2

An 18-year-old male presented to casualty with massive upper GI bleed.
On examination, he is found to be having ascites and enlarged spleen.

(i) Briefly describe the management of this case.

(ii) Enumerate the causes of portal hypertension.

(iii) What is “OPSI” and how can it be prevented ? 5+5+10=20

(i) WHE o % weyf § Rvg e @16 (swg.uE.a.) 6 fifm Rk
afufqat 3 TR deddt el &1 S H R | 3 FUERl F JUR |/
U TH ST o fore eyl 3 ‘arrest” e == g 2

(i) e 9w % Ged § “gfgliy” =+t sfonfya Hifse | a8 frasw g+ R 2
TH% FAT-FIT T B Tehd & 2

(i) In reference to human nutrition, various Expert Committees of
WHO have made recommendations regarding dietary goals. On the

basis of these recommendations, what constitutes a ‘prudent’ or
ideal’ diet in a normal person ?

(ii) In reference to pediatric nutrition, define the term “Stunting”.

What is it indicative of ? What are its causes ? 7+8=15
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Q8.

(c)

(a)

() wigenst i yo-9f 35 9 Hit Y & gvaq =i g I R 2

(i) S H FT T G Gh F 3 T H G F A 3 W H R
i TEd 8 ?

(iii) forelt wfeen & sfoga # U@ wH-39 @ f5g 98 dha w@ & fp sEeh
e femanfaf 1 wwen & 99 & wwd 2 2

(i) Why do women become less fertile aftef the age of 35 years ?

(i) Why are two semen samples collected 3 months apart in the
investigation of infertility ?

(iii) What points in a woman’s history would suggest a tubal problem

causing infertility ? 5+5+6=15

fwy-gfoias JE01 N F TG TIE S @R g % w9 § i g
2 | 38 W H TEd gu, frefafaa weAi & s difs

() TH HH-HH A TET 959 Hh & ome 78 fufd seam g R 2

(i) @S H wg-sfanuflas Fgm  (WELaR.-AH.) don fodivl
siwg-gfatias Jgu (T, €A -A..) & Sz @ difig s % e
W W ¥ Je foningi 4 v 7 sy i Ao w98 8 | A
|rdl & % IR H HaY § Fasy |

(i) I&m UART & A Iuaggl I gt ST A adae § SgmEeEifom
(Bedaquiline) It faam™ & 3U=R yTed & & fofw 399 A1 94 2 |

Drug-resistant tuberculosis has emerged as a major public health
challenge before the country. Keeping this in context, answer the
following questions :

(i) What are the major culpable factors which have led to this
situation ?

(i) To limit the burden of multi-drug-resistant tuberculosis (MDR-TB)
and extensively drug-resistant tuberculosis (XDR-TB) in the
community, public health experts have drawn a 7-point plan of
action. State those 7 points in brief.

- (iii) List the subgroups of tuberculosis patients currently eligible for
receiving treatment with a Bedaquiline containing regimen. 8+7+5=20
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(b) () UH Algen fufya qedea miftius (Framss e Higmfed) odt o8
2 | ot & a8 famra ufy mifus ieh oF # w5 W | 38 R R 6
el 98 Miadt 7 81 9u | Ife 98 wmst 9 S 8, o 3% = g &
S =R 2

(ii) “oct g T AT FT R ?
(iii) fermr miifa0raes gferl &1 “oot gEee =T & ?
(iv) Trest mifAiees & A T § 2

(i) A woman forgot to take her pill last night and is worried about the
risk of pregnancy. She is on combined oral contraceptives. If she
seeks your advice, what will it be ?

(ii) What is meant by the “Pearl Index” ?

(iii) Which contraceptive methods have lowest “Pearl Index” ?
(iv) What are the criteria for an ideal contraceptive ? 44+4+3+4=15

(¢) UH s50-affa gey fomra 3 ug | wed-sed difern qen wRRe weme & s
AR AT & | IV g a1 Tehel Oet 37 & agor i ® F |
() 3| U Y st Y A I =z 2
(i) 39 9me § faudt Fem @ g ?
(i) shratferr = fem ], fafew |

A 50-year-old male presented with fluctuating jaundice and melaena for
last 3 months. He is also giving history of itching and clay coloured
stools.

(i) How will you investigate this patient ?
(i1)) What is the differential diagnoses in this case ?

(1i1) Write Courvoisier’s law. 5+5+5=15
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